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(B)q@aaa\./

(C) srafigpa aa~—
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6. F=fof@ad | slq-arag a8 82
(A) FEmgUrt @voft Arar wfeR du & ~IeagR
(B) arersit 9 & - |1, (SA9R)

"N e aren Rz du 2 - R
(D) ur Hrar #idR A9 F - SR
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7. 1938 # Al TTT USITHUSH hl TUTGAT
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(A) Murafdg
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8. \oreym Wy aw #@maﬁ’f UES
(A) 2006
2010
(C) 1988
(D) 2008
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9. USTEYM! H_IHHYUT }_IMMUR YR 'IHIG0r’
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(A) Hegar a1y
Paysgioh wierr
(C) |=EoT Y&
(D) ggH W
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10. FFWETE aUT =T & "y & I YA

Ny siere.

(B) fraf
() 3far
(D) Iu=TH
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11. \&@eR 89 ZRT AU AR i AT &l
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%1948
(B) 1938

(C) 1968
(D) 1958
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12. 31 & g porht atelt roreur 7 Hf atefist?
(A) anrst

!

(D) grafet
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(A) A
(B) &1
fer

(D) &1a
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: (A)ﬁmf
(C) M uh
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(A) TR
%}m
(C) smiR
(D) TroTae
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16. F=faf@a & @ fFa dedaar # ‘wnfer

' & su o it o e 47

(A) IFash

\(B) urgst

(D) d=rstt
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17._3a vfie= e srigters & H@afda 82
(A) A fFam= Srigte
2) 3 R oneter
(C) urGl= fFaT srigte=
(D) sreterR foram= srigter=
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(A) &R gTfEat
B) AT UgTS
ugTfear
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19. (mmzﬁmmﬁ?dargrm%?
(A) aTeT uTg __
(B) dferer umg
_(C HATST U
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20. nm'—ﬁa’iaimf%?uﬁﬁaaﬁs‘

&

(A) &=

L

(D) e
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(A) srreraferar
(B) T99IR
(C) g2
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22 e ateht meem v ¥ et o2
(A) 3R, ATIR
) e, 3
(C) SeawR, R<teme

(D) TR, EFATE
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7 d& -dt gy
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. :{A) d

(C) =re
(D) =i
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24, _TOISR Tepia &1 wgvaqof Tuw 81
(A) grTaTSTOT
(B) wrezarsTOT

(C) sragrsToT

"“\D) g
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26.\\’551[@:: Sa’ e o9 F srafea 82
(A) e
SHaHR
(C) areiR
(D) SitrgR
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(A) HRefteR e
AnRIgoT Siteft
(C) sRTIYr gRifga
(D) fraR—Tst Swoft
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UE SR A Gk T Ag 8?0
(A)M\/—- e
(B) &rs -

\?‘m

(D)
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frerTe =
(B) =it
(C) sragR
(D) SiterqR
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30. (ama?-ﬁ @] T JeaH fAER 8-
(A) &
(B) s
(C) armTE

Q) TR
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(B) wRdta 92 a1 e weffa &

(C) zrsmait 3R I Mgl Tl & did gy
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33. wm-# foreit & e &2
(A) aret,
"By zemaTs, e

(C) 3o R, STAQR
(D) SituqR, AR
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ATYGRT
(B) 31etaR

(C) SitergR
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(A) IR ETS!
(B) mrevr e
NQ s gR
(D) sfierR =9
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(A) Tt
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(A) o=
HUSH

(C) T=arerTet

(D) Ear
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(A) srrafde
(B) sTqaafdeg

\mﬁz
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(A) ez
(B) STugr
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(D) wter
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(B) SitergR
(C) R

(D) SR
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(C) 1962
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(A) 2021-22
(B) 2014-15
(C) 2017-18
(&l2012-13
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(A) Tuafeay
N8) wrisiter
(C) grehr
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(A) wag
(B) swaqaett
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(A) g ETR
(B) st
SaaA<
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(A) 1994 =
(B) 1966
(C) 1976

3g) 1965
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(A) R<iteTe
(B) greft
(C) situgR
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RArwifRer oz &t nF 42

(A) wreft favam fifa (1968)
%3 Ryfarera fRyan smatr

(C) fvem smahT (1964-66)

(D) wreafaes fvem smai



=7

UTKARSH

65. F=ifha & 4 Jorua & e @« &

fa,—gl E’a,

~p) Premarsht » afs Sad 3 2022
(B) Ao wg&"ﬂ?
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(D) vusfeas
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(A) greht :
\*w
(C) asfies
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(A) =¥ wjfa ==
(B) =F. smanfag
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(A)3
(B) 4
5
(D) 2
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N o
(B) ozt & 37 iR a3t & ot @t
(C) o=
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(A) 2026
B) 2025
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(D) 2023
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(A)1/2 B
(B) 2/3
3/4
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72. _F=El T Ay e -
(A) STaqR &

(B) 2]
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(D) ok #
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(A) uf=r
(B) &:
(C) @ra
TR
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R 2013-14
(B) 2021-22
(C) 2017-18
(D) 2014-15
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(A) A<t
g eere

(C) 3R
(D) g
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(A) ADED i
B) BEEO
CBEO
(D) PEEO
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2020 = {3 wqut T forar ur?
(A) Hrearsht
BICaCE
(C) Herharrsit
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(A) gRYR
(B) SraqR

IEAPR
(D) ureht
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eI =nfge?
(A) f:322T
(B) sifeer @ &x&
(C) = # 31fdes Twg s arett
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&1 AR B?

(A) sy
o

(C)
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83. (R UH IE. |l (Iorey &y I Amm
fafes) it Fa ad ofeds At Foh
a1 gotf far mar?
™1975
(B) 1993
(C) 2000
(0(1961)
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84.(sm=a mmzmumﬁ'

fra Ty R [ R¥E
(A) e

(B) SiurgR
(C) 3remR
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85 s oite sifvard Ran srfafram, 2009
Ay @ & areenl &t P ok

(B) 6 & 16 ad

(C)6&22ad
(D)3& 18 af
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86. A & wad S g & RafRe «far
W AATd g1 arell wuw Afgen sifdewrt &
Tt 8, 97 Ao @ 87
(A) agsht urfies
(B) AwéiHe &+ A

W(D,mma)
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87. {2 =t +ifs ceRPRe) & das 3

i&)g@ﬁm
(B) dier e
(C) A8 TR wide
(D) #iR= ge. o
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88. ol with fhaedss RfSies dxu= =gl
SATIEIE?

(B) SEr@qR

(€) RHA
(D) %)

\
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90. ¢frar &1 Had aST FY wH ISR &
FrafafEa 4 8 e wus ww Ra @2

(A) FigRT (SawR)
RS (TTTTR)

(C) S8R (TmTTR)

(D) Tfisht (3reTHR)
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914% gdq am’fé}
(A) HReRT
(B) T
(D) 39 smfRanT
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92, ﬁ%ﬁ@
A

(A)

(C) srfig
(D) aifag
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93. Choose the correct form of the verb
from the given options to fill in the
blank.

It'stimewe
(A) had left
left
(C) leave
(D) are leaving
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% ﬁmuatmwm@

(B) 81
(C) 83
(D) 73
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05. wrow lgierdra wfira ot aray Riema -
(A) IT/sgare
(B) frum=r v sreqey
(C) S=a =urarera & F&g <arardier
= HAl
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96. Choose the correct meaning of the
underlined idiom from the options
that follow:

S —

Please get to the point Don’t beat

around the bush .

(A) talk about important subject
avoid talking about what is

important

(C) destroy plants

(D) say things to the point




=

o}y

97. T & il & g 2-
180°
(B) 270°
(C) 360°

(D) 90°
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QB.WWﬁm,a’T x I

"4 8-
A B
80° !
r(0
20° L
C D
(A) 80
(B) 90
100



=7

4y

99, fRAafaf@a # @ Fa araa d gl fhar
T8l 8?
(A) a8 Fears @ 8T 81
T gt 2l
(C) gur et @ @1 81
(D) ez ur=it WRaT 21
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1004 f anrpfar F af PQ | | RS, at X o et
2-

(3x - 20)°
o

/Az\- -10)°
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101| Choose the correct direct speech of the
given sentence from the options that
follow:
She asked them if they were ready for
the event.
(A) She says to them, “Are you ready for

the event?”
\QShe said to them, “Are you ready for

the event?”

(C) She asked to them, “Were you ready
for the event?”

(D) She said to them, “Had you been
ready for the event?”
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102.af% 395 x X = 2765, @@ X &-
1
(A) -
(B) 2370
(C) 3160

Q7
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103.3f% freft vz wr anka a«@ = 8, &t
IR AT 8-

-

(C) @rg ST 8
(D) ==
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104(mﬁ$m'@a$ﬁmaﬁﬁw

jﬁ&ﬁ%ﬁ%gﬁézaﬁmwé?
(A) =ptst — 3T — COz + 5

\tumﬂmemﬁmma COz + &
(C) rqertst — AR 31 — Q=T + CO;
(D) T@htst — uTEElaeh 3T —» QUHTe + CO2
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105. Fr=faf@a | @ sa-ar Wifaes aRad= &2
& UR Pt AR &1 IHGAT
(B) sr<tragra Siet ot fagga saees
(C) T & urht & wrd= SrgiTaaTss varfea

&
(D) Mg TR @1 gar |§ ST
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10§Choose the correct meaning of the
phrasal verb from the optios that
follow:
The thief held back the details of the
robbery.
(A) explained
concealed
(C) forgot
(D) revealed
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(C) srgam
(D) g&T=
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108.f09 & & sl9-a1 dea ASRUE AT &
&l I IaE & oo & gy
UEIE SRl 82 B
(A) Trorey= s Am
Tortent
(C) oy Ao atd
(D) &=t
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109. Fr=faf@a d | g sugin sigagivay
AT (¥STa srgeTa=T) | mrufes A
& &=y # fvar o g&ar g2
(A) HC.O
\g FESO4
K,Cr,0,

(D) KMnO,
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110.Choose the correct passive voice of

the sentence from the options that
follow:

(A) The work has not been done by
him.

(B) The work wasn’t done by him.

(C) The work isn’t done by him.

\%The work had not been done by
him.
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1@@3ﬁmm}wmu1)'mﬁmm
&IF-91 U §? ]

(A) seoTaEtys
(B) AATeTg

(D) srepden
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112.09 4 8 9 oy @ ugd e o
iy wR fra?
(A) sroea &g
(B) 1 ARTAT AT
(€) wrforery srer gt
Nﬂaﬁaﬁzﬂm
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113. 3R § Sufq whries ot s seifRe
& afthgur st Aerar 8-
(A) wrsfe=
(B) fRerdi=
(C) argepterz=

e R
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1146@ﬁmz§mmmw@'mﬁ
- B 82
(A) sRomefes
K ICEIIGED
t&);qja:rm
(D) ArHuTg
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116. Fg! RAaea &1 ag= HfSg)

(A) are graf=aa geaies 4, A= & ke
gderor &1 Iuah fFar Srar g1 (SEREETes
qegieh)
(B) ATEvs wwaf-aa geais- 7, A= & o
# gfteror o1 Iughn fRar simar 81 (SEReaT s
Hedich)

wraf-0a geaiea #, A & o
gderor &1 Iuait R smer @1 (ahmenes
qeaien)
(D) wrRve wafYa geuiea #, P &
ZR1= gdteror &1 Iuat fRar srar @ (ahens

Hedieh)
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117. 5w adten & @t wsil &1 &R ¢& 99+ 8t
ot 3o e d @ e o & s @n?
(A) asgfsar -

(B) Rrsys=haa
Y RteRa
(D) derar
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118._Which one of the following is not the
aracteristic of a criterion test?
% Brevity
(B) Effectiveness
(C) Practicability
(D) Appropriateness
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1M9.=afff@g & € s9-a1 s =TS
IunTH & < & Tgt gl 82
AL TTETE § TSt Y ufhar & e w®
399 urd oot &t i & Remeff &
Afeases § WA &1 wary forar rar 21
(B) vamarE Iur™ @ter sifhmw, gwars
fafYr v IS sr=awor uR g« a1 21
(C) T==ITaTE IUNTH a1 hifwd gl
(D) T==TaTE U WA & wgTHl a1 919 &
W-TTET & A1ed 8 79 U e i
ufehar oR a1 fd &ear gl
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120 1uht e & o Rl @ nfoe &
ufel AR RS0 g1 T T8 R &
& o s w42 Bk
(A) Frrar fRrenfdat @ dg wie &
(B) ‘gew & Tyw & R’ ¥ &1 IughT
&t
(C) =4 =@ Smamw Tuifta & & ford
Rl
\&)ﬁmﬁﬁu’fﬁgmaﬁl
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121.Qenffat & ofvm & Fweik &=t &
U &4 & e 9 uar &1 gdeor
HETHE A2
(A) Iu«ifedy gdteror
(B) HeheT-ITcHah /aTTTTeHeh U1&ToT
(c) Pwforrenss gdaror
e gdaror
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12239 & *=-d@t amfoes okfeafd a=e
Sha= &1 guifad &t 82
(A) g
(B) a=wafa
(C) enffes Tum=

N_ama:ann
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1§.Which one is applicable of the
Communicative Language Teaching
(CLT)?
(A) It follows the maxim of abstract
to concrete.
(B) It is old approach to English
language.

It develops the creative skills in

students.
(D) It stresses on the use of
structures.
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ursushd & fAual & fRyeor oo
3ifermy & @rs IunTe & IuahT &t Asva
F9T 1 Y Tt sar g2
(A) Ta.§. smfegin
(B) Si= o=t
(C) ut=Es

R
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125 B=fof@a & @ a9 s wgras awft
el 87
(A) 2u Repf&R

.=§B) A4t

(D) o
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126.Speech must precede-
(A) Speaking, writing
mkeading, writing
(C) Listening, writing
(D) Listening, speaking
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127. Fafef@a # | anferss gd g g
&l g1 &4 H Iugeh A& wgrae wredl
8-
(A) gefea &S

TR
(C) feiran wi=
(D) iTg Y AT
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128.39" & HIF-TT HNTS Telqe als & 98

Nﬂtﬂam
(B) srfo st srnrsr
(C) =R &FrT
(D) Tt &rTst
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129. s udteres atS uden d Fasureas usit &t
Sirg gq i Gio=T &1 IUAlT &ar gl
gders 81 ZRT Re v Iwr & RAduarerd
& gen S et # Ry g Iw &
fAtyarat @ oA & a1 3 UEH Har 2
udeis ZRT gl "ue f e fRAfy =
Iuat favar mar &2
(A) e fRAfY

) a3 fafy
fafe

(D) frg fafex
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130. Which one of the following method is
useful at the Lower Secondary stage?
(A) Audio - Lingual method
(B) Grammar Translation method
(C) Direct method
&LBilingual method
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131. 33 & _smagdaaR aid ) RuseR
FHer-hel 7 ueffa frar srar 8- 39 9t &t
Fgd 8-

(A) 2am9 uge
(B) gRa ugz
TR 1S

(D) Atfew a3
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132. 3t fAfY &le | Renffat & g watn 4
ot SIreft 87
N wfReE R, Ae af Rremff
(B) aitaa faemf
(C) gurafter e
(D) ufersmamsht fRremdf
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133. “gaft AT e Fd ot uewor &t
dtur 7@ gagrE 8, R off gt Jurm |
fverr & v g@ vy A g 817
g=1 3unw A fAse e &t aan e
Arurht gt 82
(A) 3rgereh Q& SR

wwe{ﬁﬁw
(C) nnfesfa ga srgdars
(D) srgaerer Qd Hgrehdt
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134. a9 &Y RAsAuonens Afe & A=fef@a &
q -t fafey srma 82
(A) arema fafe
(B) =gt fafer
eafa g fafe
(D) =t 3= st
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135. 579 & &=-11 geevr yR=af RAfY grr ve=
8 Sugwh T8l 82
(A) syffies wRa # Sftar
(B) 4. g=. a1t. ua fasy anfay
R AUsH
(D) e & fAer Aifa
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136 JEP T qui &u g -

(A) Individualized Education Procedure

ndividualized Education Program
(C) Individual Evaluation Programme
(D) Individual Evaluation Plan



=7

U AN

137.91=0 & UHY U Jguird ol AR 3ua Rk
\ﬁ.@?ﬂ ars & faha= nfaera gar 82
25

(B) 40
(C) 50
(D) 15
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138 . Rfwr s it & ft | difSa g ik ag fagy
A8 FEER &) ysEfad @wdl gl g8
HaSH 9 & -

(A) g9
(B) 3mrsreoT
(C) st

NQ) il
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139. P=faf@a & @ #is-ar afteror afear a2
v gfleror T T AR @20
A) AFSIST T UTH TAEI0T
HHIRA TAETT
(C) R FAwtor gderor
(D) e grET gdaror
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140. A & & &9-91 SST T4 87
(A) =R - 9@

- e
(C) urfzerss - faeeht
(D) sgeR - Rwd=sht




=7

UTKARSH

141, "aafivg g8 RAduar 2 9d snur =
fasty oftfeafy # aafeh & soasr @ srgar
A SraT g 1” e arenfaa fRar g2

YW e
(B) siferaté
(C) afews
(D) amgsien
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142, 3 2@ & ot &t 9@ adh
ﬁ«mﬁﬁu%amﬁa IS a B ARl &1 e
el e uret A aer g & gRent et &1

ﬁaﬂgﬂa\ﬁmm 8?

(B) Raeiftrar
(C) Rrisfora
(D) Rrerdreapfora
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143JFaa Jgar A & sl aramavofiy
~ureusqrait Y gfd & forg aragr 7 smg
e aRuel SR Ed §2
(A) =4 dt. fery
(B) =t d= =t
(C) . uw. FFR
QTR wehi
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144 A= | & s9-ar arag Mfdes w=ifaa= f
el T8l 82
(A) ag fafd & watT &=ar g1
g gaRIeHe f@As= fit S ues
Ao fAsm= 81
(C) ag gdzn ga & @ier A w|ar gl
(D) war gufea, wnafeda gd ardifAs
gl &1 TehleRvor
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145. === & dafhes f=1a1 & FRUTE -
(A) Fast ararazor
FLATEHA T ATATAROT A1
(C) =1 at d2ngehw F 7 @t arararoT
(D) ae =g
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146,33 3. e IR & ISTEIT §1
(A) AEf=
(B) haet 99 AR
(C) arad
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147. ey o) 3w ®u & @ -
(A) TR Q&g

(B) f3fSiee g& Rald
\ﬂﬁmg:m

(D) aifet garehtfeT
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148 51d 31U UaHd WIEd &l g8 Sfagde d
TG E A STTEAE -
foias
(B) eewRfciars
(C) giss
(D) Uer 2reg arferent & @ mar
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149.uH gH a2 & Ctrl + = &t &1 T fear
SATEar g -
(A) gufere & fog
B) 31Tl &H & foig
& frg
(D) wie st & forg



=

4






